
Física IV

25 agosto 2020 
Circuitos de Corrente Alternada 



L

B

C

C

E

RA

I(t) = ?

Circuitos de corrente alternada 



L

B

C

C

E

DRA

�

+

�LdI
dt

�Q
C

E

�RI

I

Circuitos  
de corrente alternada 

−L
dI
dt

−
Q
C

+ ℰ − RI = 0

ℰ = L
d2Q
dt2

+
Q
C

+ R
dQ
dt

ℰ = L
dI
dt

+
Q
C

+ RI

L
d2Q
dt2

+ R
dQ
dt

+
Q
C

= ℰ

L
d2Q
dt2

+ R
dQ
dt

+
Q
C

= ℰ



Circuitos  
de corrente alternada 

Resolver equação diferencial 

L
d2Q
dt2

+ R
dQ
dt

+
Q
C

= ℰ

+ Condições iniciais : {Q(t = 0) = Q0

I(t = 0) = I0



Circuitos  
de corrente alternada 

Resolver equação diferencial 

I(0)

Q(0)Q0

I0 ⌦ Q

L
d2Q
dt2

+ R
dQ
dt

+
Q
C

= ℰ



Circuitos  
de corrente alternada 

Resolver equação diferencial 

I(0)

Q(0)Q0

I0 ⌦
⌦

Q

Q̄

L
d2Q
dt2

+ R
dQ
dt

+
Q
C

= ℰ

L
d2Q̄
dt2

+ R
dQ̄
dt

+
Q̄
C

= ℰ



Circuitos  
de corrente alternada 

Resolver equação diferencial 

I(0)

Q(0)Q0

I0 ⌦
⌦

Q

Q̄
�Q

L
d2Q
dt2

+ R
dQ
dt

+
Q
C

= ℰ

L
d2Q̄
dt2

+ R
dQ̄
dt

+
Q̄
C

= ℰ



Circuitos  
de corrente alternada 

Resolver equação diferencial 

I(0)

Q(0)Q0

I0 ⌦
⌦

Q

Q̄
�Q

L
d2Q
dt2

+ R
dQ
dt

+
Q
C

= ℰ

L
d2Q̄
dt2

+ R
dQ̄
dt

+
Q̄
C

= ℰ

⇒ L
d2ΔQ

dt2
+ R

dΔQ
dt

+
ΔQ
C

= 0

8



Circuitos  
de corrente alternada 

Resolver equação diferencial 

I(0)

Q(0)Q0

I0 ⌦ Q

⌦
Q̄

9



Circuitos  
de corrente alternada 

Equação homogênea 
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Solução estacionária 
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